hFE BF 38kgik A
1EH 2EM RE
E 4 A e
s B wHE KIEAF —
R B —E BHR =
HE BA  xAE EHR A5
Bl )il gk B2 R e
¥/ A =8 B .
3t @ —%& =ER 6o
Io £ o {4 8% KRRAF —
Rk & Eob—50 BAIR A7
U &l wor
WE Kth —= BHR — Ao
X &B I ‘HR )
BEX 2R el RER
[ERE: E% FRA FrR %

7 B

ot

53

E3I

<k

R




10

11

hFE BF 41kghR B
TEE  2EE ERE
K % C T FR%
AT R= BE:: AT 53
IR i - BHIR —
TH EF Hst RER B-49
hH = —i& =ER 53
kRO F%E AT LR B-65
iR D =i SR —
CILNE S IR EHR =
tish 24 —iDiE EER
R @ik et R — 5750
RO @R P FBRILIE 3 a3
FEH %= IKUEI EER
T fz K% FRA R
& B
oty

E3L

FE3L

< vk

R




hE4d BF 44kgiR A
1[E1E 2[B1&% R
K & ER4A R4
EEBK o= MILE T
K BEZB MUES BHIR =
iE X8 RSt SRR .
BE —& L LAY s
g iR -3 FBKF o
=A —§ B &R A0
hR &0 -3 SERKT =
R BA  EEES HEE —
HiE K B RER
e B —% BHR —5 Ao
WA 2H T ATLR e
AR BEA 4= KERFF
IE Gz K% R4 R4

7 B

ot

53

E3I

<k

R




REE BF 48kg#R B <t
1E8 2EH  SEE  ERE R

E % P FRE

HE #8 PSS L T 522

BE B KiE g B2 IS B-43

BB LK N BNR

@A HES KRR —s

2 HE2E RER 560
TIPS - WSS B R F =7 B
NiE BE —= BAR 2 4
A HBHEF AL AR —

RAN & m B =ER B-70

WA HE  wE KR — B
BE & 3 FRR =

HE B PN-- 1f]a)} 557

R &R wal REER

ME @#& T Vst ARK — SR
WE #T  EEyE RER = 46

BhA # = ABILR 575

miE R KERRED KR RF

e %z KH B2 HEZ |

& B

e

E3i

3




20

21

22

23

24

25

26

27

28

29

30

7 B

E-yiis

3

3

hFE BF 52kg#Rk A <.
1EE 2@ 3EE R R
K % FRE FFEA
LN P = MBI 233
s K -5 BAR
IBE #2 L HER At
EER FE  xeékams ABH —
RE — 3<b B AR =t
B 2R —DE RER —
AH =5 i i 5. R Acts
RS BB askmms KRR g ]
WA AW AR s
IE W\t -] BAR
FEID AR 3 HER At
A WEEm  Tovar KEE
B HA E1 2 #ER 26
R & =1/%'4 BIR —=
H¥1574 €L T7 RENE R A3
BERSS e HRLR ——
Wil s B B R 27
| —# -5 BHR ——
BE #i&  Tovaq  KEF Acts
1T &4 2 pt L —
WA ERE EAN RER s
NI A il BER
B L3 BER Ats
@ B3 —0m RER B
HE #A o e B KRR =
TR C30) BRR
BE LEL &l il=]=} A-46
B et ®H KB oo
Ak BR KE I 5 R o
B HE— EaE A IR
IIE 42 K% B FR%



FEE BF 57ke#h
1EE 2EE 3@
E % PHE R
BiE FR O KRR =
ER Hh B BER B30
xRk & AR ARLR
X# HE  HEH KRR s
kg g e BHER
RE EE  AEXamE PN =T
RE BR v BHR 840
HEEH e LR 57
BE %5 ®waN RER
7 )11 Bt 2 # PN T =
& @mx Al RER =
FNlBA R KREF 55
2H X8 IR mHR =h
XA 18 ERME BHR
HA—m 7 KRR =
b HAE BN RER
R Wk &l AR B-42
BAE XE -2/ BNR =T
gt wE HRILR
TE T2 K& RE HEZ ]|

B

R

& B

o

3

3




10

11

hEFELE BF 62kgfh B
1[E8 2EIE  ERE

E % i FiR %
NER B R\ 8 —
A HE sl It B2 IR —
A EH gL TR 5osi
WE #hig fEw AR 5735
M ik Bk BER B-66
BE RA A% HER —
A Kb 0% KB —
EE BA ZAE ‘AR
wA BN AN RER o 5oz
W =K gL TR = 5
N Bt IR
IE i K& 4% FFE%

7 B

g4I

E3L

FE3L

vk

R




No

hFE BF 68keg iR A
RS R

K 2 FH4 FFiR 4
BN AN EHES R ey
OB ToVaq KERAT e
1L A ZER e
HHIEX ® PN T
g sz K4 % FFE%

& B

Y2

I

3L




N

w

N

[$)]

s BF 75kg ik A
1B R
K % ERA HEH
T H:iE KA BB RERAF T
BE fiE £ 321 —
E =48 HEH K IRRF Atz
A HRiE 7d:: K IRRF =
ARE BN 33 L
IE 2 K4 A R4

7 B

Eo

E3I

E3I

< vk

R



REEE BF 85kg R B -
No E % P4 511 1[E8;
1 AH FEH EPME MR 5738
2 B &% KiE ;=123
2[E] 8
3 SEH 15 KK RE KB ]
1 AH #EH =R )=
3[E] 5
2 B &5 KiE ;=413 571
3 - ) KK BE KB ¥
=8 | 2&% | smE
1 AH FEH =R MR
2 B #&% KiE ;=413
3 HEH K KK RES < BR FF
JE 1 K% PR 2%
B B
£ p2ivi

E3L




No

hFE BF 110ke#R B <.
R
E % FA R4
o L R B-63
INGERE 7 KR FF
IE i K#£ F 4 R %
B %

EoI




